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) Approximate an Irrational Number

Darcy wants to add the ribbon shown along the
diagonal of the rectangular flag she is designing.
Does Darcy have enough ribbon? Explain.

Find a better approxnmatlon by squaring decimals

Approximate V74 using perfect squares.
between 8 and 9. Then compare.

Because 74 lies between the two consecutive , i S
perfect squares 64 and 81, V74 is located Reasonm Whtch de
, cnmals can you use
between V64 and V81, : g . y . {
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Because 74 is closer to 81 than - t- R e,
64, v 74 is closer to V81, or 9. }; . 8.5x85@7225./ |1 86x86= 73.96
- ' ‘ . This approXimation | Thisisagood -
- is too low. . approximation.
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The length of the diagonal, V74, is about 8.6 feet
Darcy does not have enough ribbon. ¢ f“} (g
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'Convmce Me! Myhich of the two numbers is a better estimate
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